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Police Constable Recruitment Test ­ 2016

5th August 2016, 03:00 PM
Topic:­ General and Logical Knowledge
1)

Question Stimulus :­

In the following question, some group of letters is given, all of which, except one,
share a common similarity while one is different. Choose the odd one out. / िनη ĸЍ मg,
कुछ श㛬Āो ंके समहू िदय ेगय ेहġ, जो सभी, केवल एक को छोड़कर, समान हġ जबिक एक अलग ह ै| िवषम को चिुनय े|

BEH

CFI

DGJ

EHL

Correct Answer :­EHL 

2)

Question Stimulus :­

Who was conferred with the Arjuna Award for Cricket in 2015? / 2015 मg िïकेट के िलय ेअज∯ुĀन परुसक्ार िकस ेिदया
गया था?

Virat Kohli/ िवराट कोहली

Rohit Sharma/ रोिहत शमा∯Ā

Ravichandran Ashwin/ रिवचĵंन आिЌन

Ajinkya Rahane / अिजsं रहाणे

Correct Answer :­Rohit Sharma/ रोिहत शमा∯Ā 

3)

Question Stimulus :­

The first well known rulers and founders of Maharashtra were _____./______पहल ेशासक और
महाराЊ砯Ā के सэंथापक के iप मg जान ेजात े ह।ै

Vakatakas / वाकाटक



Satavahanas / सातवाहन

Chalukyas / चालsु

Yadavas / यादव

Correct Answer :­Satavahanas / सातवाहन 

4)

Question Stimulus :­

MICR, the full form of which is _____, is a technology which allows machines to read and process cheques. /
एमआईसीआर, का ___पणू∯Ā iप ह,ै एक तकनीक जो मशीनो ंपढ़ सकन ेऔर इस ĸिïया को जाचं करन ेकी अनमुित दतेा
ह।ै

Magnetic Ink Code Recognition / मैĀिेटक इकं कोड 稨ĀरकिĀशन

Magnetic Ink Colour Recognition / मैĀिेटक इकं कलर 稨ĀरकिĀशन

Magnetic Ink Character Recognition. / मैĀिेटक इकं करैōर 稨ĀरकिĀशन

Mini Ink Character Recognition / िमनी इकं करैōर 稨ĀरकिĀशन

Correct Answer :­Magnetic Ink Character Recognition. / मैĀिेटक इकं करैōर 稨ĀरकिĀशन 

5)

Question Stimulus :­

1. Eleven students A,B,C,D,E,F,G,H,I,J and K are sitting in the first row of the class facing
the teacher. / ùारह छाj A,B,C,D,E,F,G,H,I,J और K िश䙋Āक की ओर मखु िकए îए क䙋Āा की पहली प련ंĀő मg बठैे
हġ। 

2. D is to the immediate left of F and is second to the right of C. / D, F के तरुंत बायी ंतरफ ह ैजो C
के दािहनी ओर स ेदूसरा ह।ै 

3. A is second to the right of E, who is at one of the ends. / A, E के दािहनी ओर स ेदूसरा A ह,ै जो
िकसी एक िसरे पर ह।ै  

4. J is the immediate neighbour of A and B and third to the left of G. / J, A ओर B का िनकटतम
पड़ोसी ह ैऔर G के बायी ंओर स ेतीसरा ह।ै 

5. H is to the immediate left of D and third to the right of I. / H, D के तरुंत बायी ंओर ह ैऔर I के
दािहनी ओर स ेतीसरा ह।ै

 

Which of the following pairs of people are sitting at the extreme ends? / िनη स ेकौन सी
Ґ련Āőयो ंकी जोड़ी चरम िसरे पर बठैी ह?ै



AB

AE

CB

EF

Correct Answer :­EF 

6)

Question Stimulus :­

Chandura is a dam commissioned in 2002. This is on the river_____. / चќदुरा बाधं ह ैजो 2002 मg कमीशन ĸा훐Ā îआ।
य े_____ नदी मg ह।ै

Tapti / ता훐Āी

Narmada / नम∯Āदा

Wainganga / वनैगगंा

Chambal / चबंल

Correct Answer :­Tapti / ता훐Āी 

7)

Question Stimulus :­

ATF is used in / एटीएफ इसमg ĸयोग िकया जाता है

Aircraꐀ䈄s / िवमान

Automobiles / गािडयां

Ships / जहाज

None of the above / इनम ेस ेकोई भी नहीं

Correct Answer :­Aircraꐀ䈄s / िवमान 

8)

Question Stimulus :­

Comptroller and Auditor General is appointed by the____./िनयjंक एव ंमहालखेा परी䙋Āक ____ ¸ारा िनयőु िकया
जाता ह।ै



Vice­President / उपा늯Ā䙋Ā

Rajya Sabha / रा�सभा

Lok Sabha / लोकसभा

The President / राЊ砯Āपित

Correct Answer :­The President / राЊ砯Āपित 

9)

Question Stimulus :­

Chitrakoot waterfall is formed by the river_____./ िचjकूट झरना _____नदी ¸ारा िनिम∯Āत िकया गया ह।ै

Narmada/ नम∯Āदा

Ken/ केन

Chambal/ चबंल

Indrawati/ इΚावती

Correct Answer :­Indrawati/ इΚावती 

10)

Question Stimulus :­

Select the option that is true about the Statements and Conclusions given: / वह िवकώ चिुनए
जो िदए गए कथनो ंएव ंिनМष츱Ā के बारे मg सही ह।ै

Statements: / कथन:

All sweaters are coats / सभी ⹍Ȁटेर कोट हġ

Some shirts are sweaters / कुछ कमीजg ⹍Ȁटेर हġ

Conclusions:      / िनМष∯Ā:

I. Some shirts are coats / कुछ कमीजg कोट हġ

II.  All shirts are coats / सभी कमीजg कोट हġ

Only conclusion I follows / केवल िनМष∯Ā I िनकलता है

Only conclusion II follows / केवल िनМष∯Ā II िनकलता है

Both conclusion I and II follows / दोनो ंिनМष∯Ā I और II िनकलत ेहġ



None of the conclusion I or II follows / िनМष∯Ā I या II मg स ेकोई  नही ंिनकलता है

Correct Answer :­Only conclusion I follows / केवल िनМष∯Ā I िनकलता ह ै

11)

Question Stimulus :­

Select the statement that is the negation of the statement "Jill is not shopping or Bob
is not painting." / उस कथन को चनुg जो इस कथन का ĸितवाद ह ै"िजल खरीददारी नही ंकर रहा ह ैया बॉब
िचjकारी नही ंकर रहा ह।ै”

Jill is not shopping or Bob is not painting / िजल खरीददारी नही ंकर रहा ह ैया बॉब िचjकारी
नही ंकर रहा है

If Jill is shopping, then Bob is not painting / यिद िजल खरीददारी कर रहा ह,ै तो बॉब िचjकारी
नही ंकर रहा है

Jill is shopping if Bob is painting / िजल खरीददारी कर रहा ह,ै यिद बॉब िचjकारी कर रहा है

Jill is not shopping and Bob is not painting / िजल खरीददारी नही ंकर रहा ह ैऔर बॉब िचjकारी
नही ंकर रहा है

Correct Answer :­Jill is not shopping and Bob is not painting / िजल खरीददारी नही ंकर रहा है
और बॉब िचjकारी नही ंकर रहा ह ै

12)

Question Stimulus :­

Among five friends, Mohan is older than Raju but not as old as Lalit. Lalit is older than
Neelesh and Kabir. Neelesh is younger than Raju but not the youngest. Who is the
youth in the descending order of age? / पाचँ िमjो ंमg, मोहन राज ूस ेबड़ा ह ैपर लिलत िजतना बड़ा नही।ं
लिलत, नीलशे और कबीर स ेबड़ा ह।ै नीलशे, राज ूस ेछोटा ह ैपर सबस ेछोटा नही।ं उļ के अवरोही ïम मg कौन यवुा
ह?ै

Mohan / मोहन

Raju / राजू

None of these / इनमg स ेकोई नहीं

Can’t be determined / िनधा∯Ā稨Āरत नही ंिकया जा सकता

Correct Answer :­None of these / इनमg स ेकोई नही ं

13)

Question Stimulus :­



The jumbled letters of words are given below. Each letter has been numbered. Choose the
option which gives the correct order of the letters as indicated by the numbers to form
meaningful word. / श㛬Āो ंके अҐव련Āэथत अ䙋Āर नीच ेिदय ेगय ेहġ| ĸ쥠ကके अ䙋Āर को स♔ंĀािकत िकया गया ह|ै वह
िवकώ चिुनय ेजो साथ∯Āक श㛬Ā की रचना के िलय ेस♔ंĀाओ ंके iप मg अ䙋Āरो ंका सही ïम दतेा ह|ै

G T A E N M

1 2 3 4 5 6

1,3,2,5,4,6

1,3,2,6,4,5

6,3,1,5,4,2

6,3,5,1,4,2

Correct Answer :­6,3,1,5,4,2 

14)

Question Stimulus :­

A dice contains six alphabets from A to F on its six faces. Two Positions of Dice are shown
below: / एक पास ेके 6 फलको ंके ऊपर A स ेलकेर F अ䙋Āर अिंकत हġ| पास ेकी दो अवэथाएँ नीच ेिदखाइ गई हġ:

Which alphabet lies at the bo㸀脃om face of the dice (ii)? / पासा (ii) के िनचल ेफ़लक के ऊपर कौन सा अ䙋Āर अिंकत
ह?ै

B

C

E

F

Correct Answer :­B 

15)

Question Stimulus :­



Select the statement that is the negative of the statement "The car is a Mustang." /
उस कथन को चनुg जो इस कथन का ĸितवाद ह ै"कार एक घोड़ा ह।ै”

The car is a Thunderbird / कार एक थडंरबड∯Ā है

The car is not a Mustang / कार घोड़ा नही ंहै

The truck is a Mustang / ट砯Āक एक घोड़ा है

None of these / इनमg स ेकोई नहीं

Correct Answer :­The car is not a Mustang / कार घोड़ा नही ंह ै

16)

Question Stimulus :­

There are five persons P,Q,R,S and T. One is foot ball player, one is chess player and one is
hockey player. P and S are unmarried ladies and do not participate in any game. None of
the ladies play chess or football. There is a married couple in which T is the husband. Q is
the brother of R and is neither a chess player nor a hockey player. / पाचँ Ґ련Āő P,Q,R,S और T
हġ। इनमg स ेएक फुटबॉल 련Āखलाड़ी ह,ै एक शतरंज 련Āखलाड़ी ह ैऔर एक हॉकी 련Āखलाड़ी ह।ै P और S अिववािहत मिहलाएं हġ
और िकसी खले मg िह橎Ȁा नही ंलतेी हġ। इनमg स ेकोई भी मिहला शतरंज या फुटबॉल नही ंखलेती ह।ै एक िववािहत जोड़ा है
िजसमg T पित ह।ै Q, R का भाई ह ैऔर न ही शतरंज 련Āखलाड़ी ह ै न ही हॉकी 련Āखलाड़ी।

Who is the wife of T? / T की पĀी कौन ह?ै

P

Q

R

S

Correct Answer :­R 

17)

Question Stimulus :­

New Delhi became the capital of India in / नई िद這Ȁी भारत की राजधानी इस िदन बना था।

1911

1947

1950

None of these / इनमg मg स ेकोई नही।ं



Correct Answer :­1911 

18)

Question Stimulus :­

A stupa is a / एक Эपू है

A prayer hall / एक ĸाथ∯Āना शाला

Buddhist relic / बौ⪣Ā अवशषे

Residence / आवास

Art / कला

Correct Answer :­Buddhist relic / बौ⪣Ā अवशषे 

19)

Question Stimulus :­

India’s two seasonal winds namely north­east monsoon and south­west monsoon are called as _____and ____
respectively. / भारत के दो मौसमी हवाओ ंअथा∯Āत ्उ̃र­पवू� वषा∯Ā ऋत ुऔर दि䙋Āण­पिЖम वषा∯Ā ऋत ुको ïमशः __ और
__कहा जाता ह ै।

Spring monsoon, Autumn monsoon / वसतं वषा∯Ā ऋत,ु शरद वषा∯Ā ऋतु

Winter monsoon, summer monsoon / शीतकालीन वषा∯Ā ऋत,ु गिम∯Āयो ंकी वषा∯Ā ऋतु

Autumn monsoon, Spring monsoon  / शरद वषा∯Ā ऋत,ु वसतं वषा∯Ā ऋत,ु

Summer monsoon, Winter monsoon / ĭीѴकालीन वषा∯Ā ऋत,ु सद� वषा∯Ā ऋतु

Correct Answer :­Winter monsoon, summer monsoon / शीतकालीन वषा∯Ā ऋत,ु गिम∯Āयो ंकी वषा∯Ā ऋत ु

20)

Question Stimulus :­

If A+B means A is the son of B and B+C means B is the son of C, how is C related to A?  /
यिद A+B का अथ∯Ā ह ैिक A, B का पjु ह ैएव ंB+C का अथ∯Ā ह ैिक B, C का पjु ह,ै C, A स ेिकस तरह स耠 िंधत ह?ै

C is the father of A / C, A का िपता है

C is the uncle of A / C, A का चाचा है

C is the brother of A / C, A का भाई है

C is the grandfather of A / C, A का दादा है



Correct Answer :­C is the grandfather of A / C, A का दादा ह ै

21)

Question Stimulus :­

Which of the following animals does not lays eggs? / िनη स ेकौन सा जानवर अडं ेनही ंदतेा ह?ै

Pigeon  / कबतूर

Bat / चमगादड़

Penguin / पgगइुन

All of them / व ेसभी

Correct Answer :­Bat / चमगादड़ 

22)

Question Stimulus :­

‘Tree’ is related ‘root’ in the same way as ‘smoke’ is related to / ‘पड़े’ ‘जड़’ स ेउसी ĸकार सबंिंधत ह ैजसै े‘धआु’ं
इसस ेसबंिंधत है

Cigare㸀脃e / िसगरेट

Fire / अिĀ

Heat / ऊѴा

Chimney / िचमनी

Correct Answer :­Fire / अिĀ 

23)

Question Stimulus :­

In the following question, there is certain relationship between the first two words. Choose
the fourth word from the following options which has a similar kind of relation with the
third word. / िनη ĸЍ मg, पहल ेदो श㛬Āो ंके बीच 剆ȀЊ सबंधं ह|ै िनη िवकώो ंमg स ेचौथा श㛬Ā चिुनय ेिजसका तीसरे
श㛬Ā के साथ उसी ĸकार का सबंधं ह|ै

REDIFF: MAIL:: GOOGLE: ? / रेिडफ : मले :: गगूल : ?

SITE / साइट

SERVICE / सिव∯Āस



SEARCH / खोज

SEND / भजेना

Correct Answer :­SEARCH / खोज 

24)

Question Stimulus :­

Select the option, which is the logical equivalent of the statement given below: / वह िवकώ
चिुनए,जो तक∯Ā की 홨ȀिЊ स ेनीच ेिदए गए कथन के समान ह ै:

If Anil is a sportsman, then Akil is a dancer. / यिद अिनल एक 련Āखलाड़ी ह,ै तो अ련Āखल एक नत∯Āक ह।ै

If Akil is not a dancer, then Anil is not a sportsman. / यिद अ련Āखल एक नत∯Āक नही ंह,ै तो अिनल
एक 련Āखलाड़ी नही ंह।ै

If Akil is a dancer, then Anil is not a sportsman. / यिद अ련Āखल एक नत∯Āक ह,ै तो अिनल एक
련Āखलाड़ी नही ंह।ै

If Akil is a dancer, then Anil is a sportsman. / यिद अ련Āखल एक नत∯Āक ह,ै तो अिनल एक 련Āखलाड़ी
ह।ै

If Anil is not a sportsman, then Akil is not a dancer. / यिद अिनल एक 련Āखलाड़ी नही ंह,ै तो
अ련Āखल एक नत∯Āक नही ंह।ै

Correct Answer :­If Akil is not a dancer, then Anil is not a sportsman. / यिद अ련Āखल एक
नत∯Āक नही ंह,ै तो अिनल एक 련Āखलाड़ी नही ंह।ै 

25)

Question Stimulus :­

In which year was Akbar born? / अकबर का जΥ िकस वष∯Ā मg îआ था?

1536

1542

1560

1558

Correct Answer :­1542 

26)

Question Stimulus :­



Which award is given by Madhya Pradesh government to women for excellence in tribal,
folk and traditional arts? / जनजातीय, लोक और पारंप稨Āरक कलाओ ंमg उ몆ĀЊता के िलए, म늯Ā ĸदशे सरकार ¸ारा
मिहलाओ ंको कौन सा परुЧार िदया जाता ह?ै 

Devi Ahilya Bai Award / दवेी अिह·ाबाई परुЧार

Tansen Award / तानसने परुЧार

Kishore Kumar Award / िकशोर कुमार परुЧार

Lata Mangeshkar Award / लता मगंशेकर परुЧार

Correct Answer :­Devi Ahilya Bai Award / दवेी अिह·ाबाई परुЧार 

27)

Question Stimulus :­

The Vijayanagar kingdom was founded by / िवजयनगर रा� की эथापना िकसन ेकी थी?

ViraNarasimha / वीरनरिसοा

SaluvaNarasimha / सलवूा नरिसοा

Harihara and Bukka / ह稨Āरहर और बóुा

Vidyaranya / िव̇ार骅Ā

Correct Answer :­Harihara and Bukka / ह稨Āरहर और बóुा 

28)

Question Stimulus :­

Who was the founder of the Telugu Desam Party and 10th Chief Minister of Andhra Pradesh? / तलेगु ुदसेम पाट� के
सэंथापक और आkंĸदशे के दसवg म♔ुĀमjंी कौन थ?े

N Chandrababu Naidu / एन चĵंबाब ूनायडू 

D Purundehwari /  डी परुंदЌेरी

NT Rama Rao / एनटी रामा राव

YS Jaganmohan Reddy / वाई एस जगमोहन रे`ी

Correct Answer :­NT Rama Rao / एनटी रामा राव 

29)

Question Stimulus :­



Who received the Rajiv Gandhi Khel Ratna Award in 2011? / 2011 मg राजीव गाधंी खले रĀ परुЧार िकसन ेĸा훐Ā
िकया?

Akshay Kumar / अ䙋Āय कुमार

Sushil Kumar / सशुील कुमार

Gagan Narang / गगन नारंग

M.S. Dhoni / एम. एस. धोनी

Correct Answer :­Gagan Narang / गगन नारंग 

30)

Question Stimulus :­

In the following diagram. / िनη आकृित मg

Circle S stands for households having a scooter;/ वृ̃ S Чूटर वाल ेप稨Āरवार दशा∯Āता ह।ै

Circle T stands for households having a TV set; / वृ̃ T टी.वी ंवाल ेप稨Āरवार दशा∯Āता ह।ै

Circle W stands for households having a washing machine; / वृ̃ W वािशगं मशीन वाल ेप稨Āरवार
दशा∯Āता ह।ै

Circle C stands for households having a car. / वृ̃ C कार वाल ेप稨Āरवार दशा∯Āता ह।ै

Note: The different numbers indicates the non­over lapping regions. For example, S
represents unions of regions 1,11,12,8,9,10 and 6. / 늯Āान दg: गरै अकंवार 䙋Ājे को अलग स♔ंĀाएँ इिंगत
करती हġ। उदाहरण के िलए, S ĸЭतु करता ह ै䙋Ājेसघं 1,11,12,8,9,10 और 6।

Households having a car and washing machine only are represented by / केवल कार और वािशगं
मशीन वाल ेप稨Āरवार को इसके ¸ारा दशा∯Āया जाता है

Region 5 / 䙋Ājे 5



Union of regions 5,7,8 and 9 / 䙋Ājेसघं 5,7,8 और 9

Union of regions 9 and 8 / 䙋Ājेसघं 9 और  8

None of these / इनमg स ेकोई नहीँ

Correct Answer :­Region 5 / 䙋Ājे 5 

31)

Question Stimulus :­

To which dynasty did Qutbuddin Aibak belong? / क़ुतबु꺢ुĀीन ऐबक िकस राजवशं स ेसबंΜ रखत ेथ?े

Slave / सवेक

Lodi / लोदी

Khilji / 련Āखलजी

Maurya/ मौया∯Ā

Correct Answer :­Slave / सवेक 

32)

Question Stimulus :­

Select the option that is true about the Statements and Conclusions given: / वह िवकώ चिुनए
जो िदए गए कथनो ंएव ंिनМष츱Ā के बारे मg सही ह।ै

Statements: / बयान:

Some books are magazines / कुछ िकताबg पिjकायg हġ

All magazines are articles / सभी पिjकायg लखे हġ

Conclusions:   / िनМष∯Ā:

I. Some books are articles / कुछ िकताबg लखे हġ

II. All books are articles / सभी पЭुको ंलखे हġ

Only conclusion I follows / केवल िनМष∯Ā I िनकलता है

Only conclusion II follows / केवल िनМष∯Ā II िनकलता है

Both conclusion I and II follows / दोनो ंिनМष∯Ā I और II िनकलत ेहġ

None of the conclusion I or II follows / िनМष∯Ā I या II मg स ेकोई  नही ंिनकलता है



Correct Answer :­Only conclusion I follows / केवल िनМष∯Ā I िनकलता ह ै

33)

Question Stimulus :­

Who wrote “History of Dharmasastra”? / “धम∯ĀशाЮ" िकसन ेिलखा?

Zakir Hussain / ज़ािकर îसनै

Rajendra Prasad / राजΚे ĸसाद

Dhondo Keshav Karve / धोडंो केशव कवĝ

Pandurang Vaman Kane / पाडंरुंग वामन काणे

Correct Answer :­Pandurang Vaman Kane / पाडंरुंग वामन काण े

34)

Question Stimulus :­

A postman has to deliver post in 4 streets. Each street has 10 houses. He takes 1 min to
deliver letter in each house and 5min to travel between each house in each street. He takes
30 min to go to the next street. His day starts at 9 AM and finishes off by 4 PM, with an
hour of lunch break.  / एक डािकए को 4 गिलयो ंमg डाक दनेी ह।ै हर गली मg 10 घर हġ। वह हर घर मg डाक दने ेमg
एक िमनट लतेा ह ैऔर पाचं िमनट ĸ쥠ကके गली के ĸ쥠ကके घर के बीच याjा करन ेमg लगाता ह।ै वह 30 िमनट अगली गली मg
जान ेमg लगाता ह।ै सबुह 9बज ेउसका िदन शiु होता ह ैऔर 4बज ेख़쒒Ā होता ह,ै इस बीच वह 1घ́ ेका दोपहर के भोजन
के िलए समय लतेा ह।ै

If all houses on 4 streets have to be delivered letter, then at what time should he start such
that he finishes off his work by 4 PM? / अगर चारो ंगिलयो ंमg पj िवत稨Āरत िकय ेजान ेह,ै तब उस ेिकस समय
अपना काम शiु करना चािहए की वह 4 बज ेतक काम समा훐Ā कर ल?े

9 AM / सबुह 9 बजे

10 AM/ सबुह 10 बजे

11 AM/ सबुह 11 बजे

12 Noon / दोपहर 12 बजे

Correct Answer :­9 AM / सबुह 9 बज े

35)

Question Stimulus :­

If mobile phone is turned on, then if someone cries then the rotator rotates. No one is
crying, so the rotator must be stationary. / अगर मोबाइल को ऑन िकया गया ह,ै तो यिद कोई रोता ह ैतो
रोटटेर घमूता ह।ै  कोई भी रो नही ंरहा ह,ै तो रोटटेर 련Āэथर होगा।



True / सही

False / गलत

Maybe / हो सकता है

Irrelevant / अĸासिंगक

Correct Answer :­False / गलत 

36)

Question Stimulus :­

Abhinav told Bunty that Sunny is his father’s nephew,  Deepu is Abhinav’s cousin but not
brother of Sunny. How is Deepu related to Sunny?  / अिभनव न ेबटंी को बताया िक सनी उसके िपता का
भतीजा ह,ै दीप ूअिभनव का चचरेा भाई ह ैलिेकन सनी का भाई नही।ं दीप ूसनी स ेकैस ेसबंिंधत ह?ै

Father / िपता

Mother / माता

Sister  / बहन

Aunt / चाची

Correct Answer :­Sister  / बहन 

37)

Question Stimulus :­

Select the option that is true about the Statements and Conclusions given: / वह िवकώ चिुनए
जो िदए गए कथनो ंएव ंिनМष츱Ā के बारे मg सही ह।ै

Statements:  / कथन:

All screws are nails / सभी पgच नाखनू हġ         

 All nails are bolts / सभी नाखनू बोυ हġ

Conclusions:  / िनМष∯Ā:

I. All screws are bolts  / सभी पgच बोυ हġ 

 II. All bolts are screws / सभी बोυ पgच है

Only conclusion I follows / केवल िनМष∯Ā I िनकलता है

Only conclusion II follows / केवल िनМष∯Ā II िनकलता है



Both conclusion I and II follows / दोनो ंिनМष∯Ā I और II िनकलत ेहġ

None of the conclusion I or II follows / िनМष∯Ā I या II मg स ेकोई  नही ंिनकलता है

Correct Answer :­Only conclusion I follows / केवल िनМष∯Ā I िनकलता ह ै

38)

Question Stimulus :­

Forty boys are standing in a row facing the north. Amit is eleventh from the left and
Deepak is thirty first from the right end of the row. How far will Shreya, who is third to the
right of Amit in the row, be from Deepak? / चालीस लड़के एक प련ंĀő मg उ̃र की िदशा की ओर मखु िकए
îए खड़ ेहġ। अिमत बाएं स े11वg эथान पर ह ैऔर दीपक प련ंĀő के दायg िसरे स े30वg эथान पर ह।ै तो mयेा, जो प련ंĀő मg अिमत
की दायी ंओर स ेतीसरी ह,ै दीपक स ेिकतनी दूर होगी?

2nd

3rd

4th

5th

Correct Answer :­4th 

39)

Question Stimulus :­

Rashtriya Alankaran Samaroh is held in_______. / राЊ砯Āीय अलकंरण समारोह _______ मg आयोिजत िकया जाता ह।ै

Indore / इदंौर

Jabalpur / जबलपरु

Ujjain / उźनै

Bhopal / भोपाल

Correct Answer :­Bhopal / भोपाल 

40)

Question Stimulus :­

What is common between the dams Sanjay Sarovar and Sarati? / बाधंो ंसजंय सरोवर और सारा के बीच आम sा ह?ै

Both have dry beds / दोनो ंसखू ेताल हġ



Both are the same size dams / दोनो ंएक ही आकार के बाधँ हġ

Both are in Wainganga river / दोनो ंवनैगगंा नदी मg हġ

Both are in Narmada river / दोनो ंनम∯Āदा नदी मg हġ

Correct Answer :­Both are in Wainganga river / दोनो ंवनैगगंा नदी मg हġ 

Topic:­ Mental Ability and Mental Aptitude
1)

Question Stimulus :­

Complete the series choosing the missing number: / िवल훐ुĀ स♔ंĀा चनुकर mखंला को परूा कीिजए :

512, 64, 16, 8, 8, 16, ____

64

48

16

8

Correct Answer :­64 

2)

Question Stimulus :­

Complete the series choosing the missing letter/s: / िवल훐ुĀ अ䙋Āर चनुकर mखंला को परूा
कीिजए : abc bcd cde def________

efg

dfg

fgh

ghi

Correct Answer :­efg 

3)

Question Stimulus :­

Complete the following sequence of figures. / आकृितयो ंके िनη ïम को परूा कीिजय:े



Correct Answer :­  

4)

Question Stimulus :­

An objective test was given to a group of 336.Candidates it was found  that   of the
candidates gave all correct answers. How many of the candidates made one or more



mistakes? /  336 छाjो ंके समहू को एक वЭिुनь ठ टЬे िदया गया | यह पाया गया िक   छाjो ंन ेसभी सही उ̃र
िदए िकतन ेछाj ऐस ेहġ िजΨोनं ेएक या अिधक ग련Āφया ंकरी?

46

36

26

56

Correct Answer :­56 

5)

Question Stimulus :­

Four cards are drawn from a pack of 52 cards. What is the probability that all the diamonds? / 52 ताशो ंकी एक ग`ी मg
स े4 ताशो ंको िनकाला जाता ह।ै sा सभंावना ह ैकी वो ईटं के प̃ ेहोगं?े

13C4/ 52C4

13C2/ 52C2

13C4/ 26C4

13C2/ 26C4

Correct Answer :­13C4/ 52C4 

6)

Question Stimulus :­

The value of x in (x+6) (x+2) =x is / (x+6) (x+2) =x मg x का मान है

­4,­3

­3,­2

­1,­1

­2,­2

Correct Answer :­­4,­3 

7)



Question Stimulus :­

How many triangles are there in the following figure? / िनη आकृित मg िकतन ेिjकोण हġ?

10

6

8

12

Correct Answer :­12 

8)

Question Stimulus :­

How many kilograms of pure salt must be added to 20kg of 2% solu䠀뼄on of salt and water is increase it to a 10%
solu䠀뼄on?/ 20 िकĭा वजन के नमक और पानी के 2% िवलयन मg िकतन ेिकलोĭाम श⪣Ā नमक िमलायg िक वह 10% िवलयन
हो जाय?े

1 kg/ 1 िकĭा

1kg/ 1 िकĭा

1  kg/ 1  िकĭा

1 kg/ 1 िकĭा

Correct Answer :­1 kg/ 1 िकĭा 

9)

Question Stimulus :­

The average age of the rain in the first four days of a week was 26 cms. In the last three days, the average was 29 cms. What
is the average rain during the week? / स훐Āाह के ĸथम चार िदनो ंमg बा稨Āरश की औसत उļ 26 समेी थी। अिंतम तीन िदनो ंमg



औसत 29 समेी थी। स훐Āाह के दौरान औसत बा稨Āरश sा ह?ै

27.5 cms / 27.5 समेी

27.3 cms / 27.3 समेी

27 cms / 27 समेी

28 cms / 28 समेी

Correct Answer :­27.3 cms / 27.3 समेी 

10)

Question Stimulus :­

In the following question, one term in the number series is wrong. Find out the wrong
term. / िनη ĸЍ मg, स♔ंĀा mखंला मg एक पद गलत ह|ै गलत पद 葥Āात कीिजय|े  4,5,9,20,34,59

59

34

9

20

Correct Answer :­9 

11)

Question Stimulus :­

If alphabets are encrypted as numbers ,S x T + U is equal to / यिद अ䙋Āरो ंको स♔ंĀाओ ंके iप मg
ए련ĀќïΏ िकया गया ह,ै तो S x T + U बराबर ह ैइसके

401

420

421

402

Correct Answer :­401 

12)

Question Stimulus :­



In an election, a candidate who gets 64% of the votes is elected by a majority of 616
votes. What is the total number of votes polled?/ एक चनुाव मg, उκीदवार िजस े 64% वोट िमलत ेहġ
उसका चयन 616 वोटो ंके बîमत स ेîआ ह।ै डाल ेगय ेवोटो ंकी कुल स♔ंĀा sा ह?ै

2000

2100

2300

2200

Correct Answer :­2200 

13)

Question Stimulus :­

In how many ways can we arrange 3 le㸀脃ers a, b and c by taking one le㸀脃er at a 䠀뼄me? / 3 अ䙋Āरो ंa, b और c को हम
िकतन ेतरीको ंमg Ґव련Āэथत कर सकत ेहġ यिद एक बारी मg एक अ䙋Āर िलया जाय?े

3

1

2

6

Correct Answer :­3 

14)

Question Stimulus :­

Complete the series choosing the missing number: / िवल훐ुĀ स♔ंĀा चनुकर mखंला को परूा कीिजए :

1, 5, 11, 19, 29, ____

42

41

34

48

Correct Answer :­41 

15)



Question Stimulus :­

There are three alternatives for the following question. Find out the correct one. / िनη ĸЍ के
िलए तीन िवकώ हġ| सही वाला चिुनए|

i. ‘Tom Kun Sud’ means ‘Dogs are barking’ / ‘Tom Kun Sud’ का मतलब ह ै‘Dogs are barking’

ii. ‘Kun Jo Mop’ means ‘Dogs and Horses’ / ‘Kun Jo Mop’ का मतलब ह ै‘Dogs and Horses’

iii. ‘Mut Tom Mop’ means ‘Horses are mad’ / ‘Mut Tom Mop’ का मतलब ह ै‘Horses are mad’

 

        Which of the following encryption is used for ‘and’? / िनη मg स ेकौन सा ए련Āќïपशन ‘and’ के िलए
ĸयोग îआ ह?ै

Tom

Jo

Mut

Mop

Correct Answer :­Jo 

16)

Question Stimulus :­

CANCELLED

The average of 1, 2, 3,4,5,6 and 7 is? / 1,2,3,4,5,6 और 7 का औसत ह?ै

21

22

20

19

Correct Answer :­20 

17)

Question Stimulus :­

In a certain code "PEARL" is wri㸀脃en as SHDUO. How is "COVET" wri㸀脃en in the code? / िकसी खास कोड मg "PEARL"
को SHDUO िलखा जाता ह|ै उस कोड मg "COVET" को कैस ेिलखा जाता ह?ै



FRYHW

FMZIV

ENYVU

FRZJW

Correct Answer :­FRYHW 

18)

Question Stimulus :­

On selling Rickshaw for Rs. 2640 Sanjay loses 12%, for how much should he sell it  to gain
12%? / एक 稨Āरșा 2640 ħपए मg बचेकर सजंय को 12% की हािन îई। उस े稨Āरșा िकतन ेम·ू पर बचेन ेचािहए की
उस े12% का लाभ हो?

Rs.3460 / iपए 3460

Rs.3260 / iपए 3260

Rs.3160 / iपए 3160

Rs.3360 / iपए 3360

Correct Answer :­Rs.3360 / iपए 3360 

19)

Question Stimulus :­

There are three alternatives for the following question. Find out the correct one. / िनη ĸЍ के
िलए तीन िवकώ हġ| सही वाला चिुनए|

i. ‘Tom Kun Sud’ means ‘Dogs are barking’ / ‘Tom Kun Sud’ का मतलब ह ै‘Dogs are barking’

ii. ‘Kun Jo Mop’ means ‘Dogs and Horses’ / ‘Kun Jo Mop’ का मतलब ह ै‘Dogs and Horses’

iii. ‘Mut Tom Mop’ means ‘Horses are mad’ / ‘Mut Tom Mop’ का मतलब ह ै‘Horses are mad’

       Which of the following encryption is used for ‘mad’? / िनη मg स ेकौन सा ए련Āќïपशन ‘mad’ के िलए
ĸयोग îआ ह?ै

Tom

Mut



Mop

Jo

Correct Answer :­Mut 

20)

Question Stimulus :­

Two pipes A and B can fill a tank in 10 and 15 minutes respectively. If both are opened at a time, then
how long will it take to fill the tank? / दो पाइप A और B एक टġक को ïमशः 10 और 15 िमनटो ंमg भर सकत ेहġ।
यिद दोनो ंपाईपो ंको एक ही साथ चाल ूिकया जाता ह,ै तो टġक को भरन ेमg कुल िकतना समय लगगेा?

2 min / 2 िमनट

3 min / 3 िमनट

5 min / 5 िमनट

6 min / 6 िमनट

Correct Answer :­6 min / 6 िमनट 

21)

Question Stimulus :­

Which one of the following four addresses is NOT EXACTLY the same as the one given
below? / िनη िदयg गय ेचार पतो ंमg स ेनीच ेिदय ेगय ेपत ेके ठीक समान कौन सा एक नही ंह?ै   

 

Four Corners River Sports & Kayak School

PO Box 379

Durango, Colorado 81302

(800) 426­7637

 

(i) Four Corners River Sports & Kayak School

PO Box 379

Durango, Colorado 81302

(800) 426­7637

 

(ii) Four Corners River Sports & Kayak School



PO Box 379

Durango, Colorado 81302

(800) 426­7637

 

(iii) Four Corners River Sports & Kayak School

PO Box 379

Durango, Colorado 81802

(800) 426­7637

 

(iv) Four Corners River Sports & Kayak School

PO Box 379

Durango, Colorado 81302

(800) 426­7637

i

ii

iii

iv

Correct Answer :­iii 

22)

Question Stimulus :­

If the cost price of 30 articles is equal to the selling price of 20 articles. Find the Profit percentage? / 30
वЭओु ंका लागत म·ू 20 वЭओु ंके िबïी म·ू के बराबर ह।ै लाभ ĸितशत का पता लगाएं?

60%

70%

80%

50%

Correct Answer :­50% 



23)

Question Stimulus :­

The below series uses a sequence of alphabets and numbers. Identify the incorrect
combination. / नीच ेदी गई mखंला अ䙋Āरो ं एव ंस♔ंĀाओ ंका अनïुम ĸयोग करती ह|ै गलत सयंोजन पहचािनय|े

 

(i) QO090123G36   

(ii) QO090123G36                   

(iii) QO098123G36    

(iv) QO090123G36

i

ii

iii

iv

Correct Answer :­iii 

24)

Question Stimulus :­

A train 240m long is running at a speed of 72kmph. If it crosses a tunnel in 1min, then the length of the tunnel is/ 240
मी ल耠 ी एक ट砯Āन 72िकमी/घटंा की गित स ेचल रही ह।ै यिद वह 1िमनट मg एक टनल को पार करती ह,ै तो टनल की ल耠 ाई
होगी

960 m/ 960 मी

1000 m/ 1000 मी

820 m/ 820 मी

780 m/780 मी

Correct Answer :­960 m/ 960 मी 

25)

Question Stimulus :­

The speed of a train is 15 m /sec. Its speed in km/hr is/ ट砯Āन की गित 15 मी/सकेंड ह।ै िकमी/घटंा मg इसकी गित होगी

45



54

40

38

Correct Answer :­54 

26)

Question Stimulus :­

If 0.025 of a par䠀뼄cular number equals 75, then 50% of the same number equals / यिद िकसी िनिЖत स♔ंĀा का
0.025 बराबर ह ै75 के, तब उसी स♔ंĀा का 50% बराबर होगा इसके

1500

375

750

3000

Correct Answer :­1500 

27)

Question Stimulus :­

The consequent of the ratio 2:7 is 28 then what is its antecedent? / 2:7 अनपुात
का उѝ तरागं 28 ह ैतो उसका पवू∯Āवѝृ त sा ह?ै

5

8

4

6

Correct Answer :­8 

28)

Question Stimulus :­

What will be the next term in the series? / mृंखला मg अगला पद sा होगा?   

W, V, T, S, Q, P, N, M,_______



I

J

K

L

Correct Answer :­L 

29)

Question Stimulus :­

{260x1‐46x2}/(4x2)+(79/4)x4=?

200

100

228

242

Correct Answer :­100 

30)

Question Stimulus :­

If DEMAND is wri㸀脃en as DNAMED and SUPPLY is wri㸀脃en as YLPPUS, how will QUANTITY be wri㸀脃en as? / यिद
DEMAND को िलखा जाता ह ैDNAMED और SUPPLY को िलखा जाता ह ैYLPPUS, तो QUANTITY को कैस ेिलखा जायगेा?

YTITANQU

YTITNAUQ

YTUTANIQ

YTATUYIQ

Correct Answer :­YTITNAUQ 

Topic:­ Science and Simple Arithmetic
1)

Question Stimulus :­

Study the graph below and answer the ques䠀뼄ons. (Consider approximate values for answers) / नीच ेिदए गय ेĭाफ का
अ늯Āयन करg और ĸЍो ंका उ̃र दg। (उ̃रो ंके िलए अनमुािनत म·ूो ंपर िवचार करg)



By how much % Hockey and Football are preferred over Chess and Badminton? / शतरंज और बडैिमटंन के बजाय हॉकी
और फुटबॉल को िकतनी ĸितशत ĸाथिमकता दी जाती ह?ै

26

21

22

28

Correct Answer :­26 

2)

Question Stimulus :­

Study the graph below and answer the ques䠀뼄ons. (Consider approximate values for answers) / नीच ेिदए गय ेĭाफ का
अ늯Āयन करg और ĸЍो ंका उ̃र दg। (उ̃रो ंके िलए अनमुािनत म·ूो ंपर िवचार करg)

 

Which is the favorite sport of the school? / Чूल का सबस ेिĸय खले कौन सा ह?ै

 

Hockey / हॉकी



Badminton   / बडैिमटंन

Chess    / शतरंज

Football  / फुटबॉल

Correct Answer :­Football  / फुटबॉल 

3)

Question Stimulus :­

From the figure, find the angle of elevation,   / िदय ेदी गई आकृती मg, उΌयन कोण   िनकािलये

 = 300

 = 450

 = 600

 = 250

Correct Answer :­  = 600 

4)

Question Stimulus :­

Which structure is formed by the fertilized ovule? / िनη मg स ेकौन सी सरंचना िनषिेचत बीजाडं ¸ारा िनिम∯Āत होती
ह?ै

Ovary / अडंाशय

Fruit / फल

Seed / बीज

Bud / कली

Correct Answer :­Seed / बीज 



5)

Question Stimulus :­

The graph below shows the production of the Agra Unit of a company in the
first ten years. /  नीच ेिदया गया ĭाफ आगरा के एक कंपनी की इकाई का ĸथम दस वष츱Ā मg उ̈ादन  दशा∯Āता ह|ै

The produc䠀뼄on in which year is the nearest to the average? / िकस वष∯Ā मg उ̈ादन औसत के िनकटतम ह?ै

 

First / ĸथम

Fourth / चतथु∯Ā

Fiꐀ䈄h / पचंम

Tenth / दशम

Correct Answer :­Fiꐀ䈄h / पचंम 

6)

Question Stimulus :­

The slope of a velocity – 䠀뼄me graph gives ____________ / वगे – समय ĭाफ की ĸवणता दतेी ह_ै_________

velocity / वगे

accelera䠀뼄on / ̆रण

speed / गित

distance / दूरी



Correct Answer :­accelera䠀뼄on / ̆रण 

7)

Question Stimulus :­

The height of a conical tent is 14 m and its floor area 346.5 m2. The length of
1.1 m wide canvas required to build the tent is:  / शाकंव त耠  ूकी ऊँचाई 14 मीटर ह ैऔर
उसका फश∯Ā 䙋Ājेफल 346.5 मीटर2 ह।ै टΔे  का िनमा∯Āण करन ेके िलए 1.1 मीटर चौड़ ेकैनवस की ल耠 ाई होगी:

525 m

490 m

665 m

860 m

Correct Answer :­525 m 

8)

Question Stimulus :­

Which is a ho㸀脃er object, that measures 680 C or an object that measures 680 F / कौन अिधक गम∯Ā ह ै‐ एक वЭु
िजसका मापन 680 C ह ैया एक वЭ ुिजसका मापन 680 F है

an object that measures 680 F is ho㸀脃er than 680 C / वह वЭ ुिजसका मापन 680 F ह ैवो 680 C वाली वЭ ुसे
अिधक गम∯Ā है

an object that measures 680 C is hotter than 680 F / वह वЭ ुिजसका मापन 680 C ह ैवो 680 F
वाली वЭ ुस ेअिधक गम∯Ā है

Both are ho㸀脃er / दोनो ंगम∯Ā हġ

Heat & Temperature have no rela䠀뼄on / ऊѴा और तापमान मg कोई सबंधं नही ंहै

Correct Answer :­an object that measures 680 C is hotter than 680 F / वह वЭ ुिजसका मापन
680 C ह ैवो 680 F वाली वЭ ुस ेअिधक गम∯Ā ह ै

9)

Question Stimulus :­

A metallic sphere of radius 10.5 cm is melted and recast into small cones, each
of radius 3.5 cm and height 3 cm.  Find the number of such cones that are
formed. / एक 10.5 समेी िj�ा वाल ेधा련Ā̆क गोलक को िपघला कर छोट ेशकंुओ ंका iप िदया जाता ह,ै ĸ쥠ကके की
िj�ा 3.5 समेी और ऊँचाई 3 समेी होती ह।ै ऐस ेिनिम∯Āत िकय ेगय ेशकंुओ ंकी स♔ंĀा िनकािलए।



21

63

126

130

Correct Answer :­126 

10)

Question Stimulus :­

The value of A, E, G and H in the division is ___________  / िदए गए िवभाजन मg A, E, G
एव ंH का मान ___________ ह।ै

 

8, 5, 3 and 6 / 8, 5, 3 और 6

8, 3, 5 and 6 / 8, 3, 5 और 6

5, 8, 3 and 6 / 5, 8, 3 और 6

6, 5, 3 and 8 / 6, 5, 3 और 8

Correct Answer :­8, 5, 3 and 6 / 8, 5, 3 और 6 

11)

Question Stimulus :­

The LCM of 2a+6,+3a is / 2a+6,+3a का LCM है

2a(a+3)

1

4a(a+3)

0



Correct Answer :­2a(a+3) 

12)

Question Stimulus :­

The organelle which contain green colour pigments called chlorophyll present in Tradescan�a are / कोिशकागं
जो हरे रंग के वण∯Āक śोरोिफल को अतंिव∯ĀЊ करती हġ और ट砯Āडसेकġिटआ मg उप련Āэथत रहती हġ कहलाती हġ

Chromoplasts / वण∯Āलवक

Leucoplasts / अवण� लवक

Chloroplasts / ह稨Āरतलवक

Elaioplasts / तलेद लवक

Correct Answer :­Chloroplasts / ह稨Āरतलवक 

13)

Question Stimulus :­

If an object absorbs light of all colours, it will appear / यिद एक वЭ ुसभी रंगो ंका ĸकाश
अवशोिषत कर लतेी ह,ै  तो यह ĸतीत होगी

Black / काली

Blue / नीली

White / सफेद

Yellow / पीली

Correct Answer :­Black / काली 

14)

Question Stimulus :­

∆PBC, ∆QBC and ∆RBC are three isosceles triangles on the same base BC.  Then
P, Q and R  ________. / ∆PBC, ∆QBC and ∆RBC समान आधार BC पर तीन समि¸बाî िjभजु हġ। तो P,
Q और R  ________      .

are collinear / सरंेख हġ

form another isosceles triangle / एक अΎ समि¸बाî िjभजु बनात ेहġ

are points on a circle / एक वतृ पर िबदं ुहġ



form an equilateral triangle / एक समबाî िjभजु बनात ेहġ

Correct Answer :­are collinear / सरंेख हġ 

15)

Question Stimulus :­

A focus point is ___________. / एक कgĵ िबќदु होता ह_ै___________

Where all light directed at that lens travels and turns / जहा ँलgस पर िदЊ परूा ĸकाश याjा करता ह ैऔर मड़ु
जाता है

Where all light directed at that lens bends / जहा ँलgस पर िदЊ परूी रोशनी झकु जाती है

Where all the light directed at that lens converges or diverges / जहा ँलgस पर िदЊ परूी रोशनी अिभस稨Āरत या
अपस稨Āरत होती है

Where all light are vanished / जहा ँपरूी रोशनी गायब हो जाती है

Correct Answer :­Where all the light directed at that lens converges or diverges / जहा ँलgस पर िदЊ परूी रोशनी
अिभस稨Āरत या अपस稨Āरत होती ह ै

16)

Question Stimulus :­

Identify the WRONG statement about the constellation shown in the figure: / नीचे
िदखाए गए िचj मg तारामडंल के बारे मg गलत कथन को पहचािनए

 

It has seven or eight brightest stars / इसमg सात या आठ सबस ेचमकील ेतारे हġ।

It is known as Leo Major / यह िलयो मजेर स ेजाना जाता ह।ै

It is very useful as an aid for loca䠀뼄ng other stars / यह अΎ तारो ंको खोजन ेके िलए बîत उपयोगी ह।ै

Its brightest stars can be seen with naked eye / इसके सबस ेचमकील ेतारे खलुी आखंो ंस ेदखे ेजा सकत ेहġ।



Correct Answer :­It is known as Leo Major / यह िलयो मजेर स ेजाना जाता ह।ै 

17)

Question Stimulus :­

When an object is heated ,the molecules that makeup the object / जब एक वЭ ुको गम∯Ā िकया जाता ह,ै तो वे
अण ुजो वЭ ुको बनात ेहġ

Lose energy / ऊजा∯Ā खो दते ेहġ

Become heavier / भारी हो जात ेहġ

Become lighter / हπे हो जात ेहġ

Begins to move faster / तजेी स ेचलन ेलगत ेहġ

Correct Answer :­Begins to move faster / तजेी स ेचलन ेलगत ेहġ 

18)

Question Stimulus :­

Study the graph below and answer the ques䠀뼄ons. (Consider approximate values for answers) / नीच ेिदए गय ेĭाफ का
अ늯Āयन करg और ĸЍो ंका उ̃र दg। (उ̃रो ंके िलए अनमुािनत म·ूो ंपर िवचार करg)

By how much % number of Chess & Badminton players exceeds over Football players? / फुटबॉल 련Āखलािड़यो ंस ेशतरंज
और बडैिमटंन 련Āखलािड़यो ंकी िकतनी ĸितशत स♔ंĀा अिधक ह?ै

 

11

14

9

None of these / इनमg स ेकोई भी नहीं



Correct Answer :­None of these / इनमg स ेकोई भी नही ं

19)

Question Stimulus :­

The part of the brain more developed in man is________ / पiुष मg म련ĀЭМ का अिधक िवकिसत भाग ह ै________

Cerebellum / अनमु련ĀЭМ

Olfactory lobes / įाण पािल

Medulla / म늯Āाशं

Cerebrum / ĸम련ĀЭМ

Correct Answer :­Cerebrum / ĸम련ĀЭМ 

20)

Question Stimulus :­

The greatest number, by which if 1657 and 2037 are divided to give remainder 6 and 5 respec䠀뼄vely, is ___________. /
वह अिधकतम स♔ंĀा, िजसस ेयिद 1657 और 2037 को िवभािजत करg तो शषे ïमश: 6 और 5 िमल,े स♔ंĀा होगी

127

123

235

305

Correct Answer :­127 

21)

Question Stimulus :­

We are able to hold objects in our hands due to / हम िकस कारण अपन ेहाथो ंमg वЭओु ंको पकड़न ेके स䙋Āम हġ?

Pressure / दाब

Muscular force / मासंपशेीय बल

Area in contact / सपंक∯Ā मg 䙋Ājे

Fric䠀뼄on / घष∯Āण



Correct Answer :­Fric䠀뼄on / घष∯Āण 

22)

Question Stimulus :­

We are able to place a pile of books on the shelf due to / हम िकस कारण त塓Ā ेपर पЭुको ंके ढरे लगान ेमg स䙋Āम
हġ?

Rolling fric䠀뼄on / ब這ेȀन घष∯Āण

Sta䠀뼄c fric䠀뼄on / эथिैतक घष∯Āण

Fluid fric䠀뼄on / तरल घष∯Āण

Sliding fric䠀뼄on / सप� घष∯Āण

Correct Answer :­Sta䠀뼄c fric䠀뼄on / эथिैतक घष∯Āण 

23)

Question Stimulus :­

Diagonals of a trapezium ABCD with AB || DC intersect each other at the point
O.  If AB = 2 DC, find the ratio of the areas of ∆AOB and ∆COD. / AB || DC वाले
समलबं ABCD के िवकण∯Ā, एक दूसरे को िबदं ुO पर ĸितẅदे करत ेहġ। यिद AB = 2 DC, तो  ∆AOB और ∆COD के
䙋Ājेफलो ंका अनपुात िनकािलए।

1 : 2

2 : 1

4 : 1

1 : 4

Correct Answer :­4 : 1 

24)

Question Stimulus :­

The receiving chambers of the heart is_________ / íदय के ĭाही क䙋Ā हġ_________

Right auricle, Left auricle / दाया ंअिलदं,  बाया ंअिलदं

Right ventricle, right auricle / दाया ंिनलय,  दाया ंअिलदं

Left auricle, left ventricle / बाया ंअिलदं,  बाया ंिनलय



Left ventricle, right ventricle / बाया ंिनलय,  दाया ंिनलय

Correct Answer :­Right auricle, Left auricle / दाया ंअिलदं,  बाया ंअिलदं 

25)

Question Stimulus :­

Find the least number which is a perfect square and is divisible by each of the numbers 16, 20 and 24. / वह Ύनूतम
स♔ंĀा िनकािलए जो एक आदश∯Ā वग∯Ā ह ैऔर ĸ쥠ကके स♔ंĀा 16, 20 एव ं2 स ेिवभािजत है

1600

3600

6400

14400

Correct Answer :­3600 

26)

Question Stimulus :­

Study the graph below and answer the ques䠀뼄ons. (Consider approximate values for answers) / नीच ेिदए गय ेĭाफ का
अ늯Āयन करg और ĸЍो ंका उ̃र दg। (उ̃रो ंके िलए अनमुािनत म·ूो ंपर िवचार करg)

What is the ra䠀뼄o of students playing Football and Chess? / फुटबॉल और शतरंज खलेन ेवाल ेछाjो ंका अनपुात sा ह?ै

 

59/190

190/59

126/59

59/126



Correct Answer :­190/59 

27)

Question Stimulus :­

Which among these is associated with sexual reproduction in plants? / िनη मg स ेपौधो ंमg लġिगक जनन स ेसबंिंधत
कौन ह?ै

Fragmentation / िवखडंन

Spore formation / बीजाण ुिनमा∯Āण

Budding / मकुुलन

Seed  formation / बीज िनमा∯Āण

Correct Answer :­Seed  formation / बीज िनमा∯Āण 

28)

Question Stimulus :­

The value of x in (x+6) (x+2) =x is / (x+6) (x+2) =x मg x का मान है

­4,­3

­3,­2

­1,­1

­2,­2

Correct Answer :­­4,­3 

29)

Question Stimulus :­

Arnab goes to the South Pole on an expedi䠀뼄on. The kind of thermometer he takes with him is / अन∯Āब एक
अिभयान के िलए दि䙋Āणी kवु पर जाता ह।ै वो अपन ेसाथ िकस ĸकार का तापमापी ल ेजाता है

Mercury thermometer / पारद तापमापी

Alcohol thermometer / एπोहॉल तापमापी

Digital thermometer / अकंीय तापमापी

Minimum & maximum thermometer / Ύनूतम और अिधकतम तापमापी



Correct Answer :­Alcohol thermometer / एπोहॉल तापमापी 

30)

Question Stimulus :­

In galvanized iron, iron has a coa䠀뼄ng of / जЭदेार लोह ेमg, लोह ेपर परत होती है

Zinc / जЭ ेकी

Galena / रागंा की

Nickel / िनिकल की

Aluminium / ऐलिुमिनयम की

Correct Answer :­Zinc / जЭ ेकी 


